CJ' doubtnut

India's Number 1 Education App

MATHS

BOOKS - ICSE

ALGEBRAIC EXPRESSIONS

1.Add : ba + 6b — 3¢, 4b + ¢ — 3a and a — 6¢ — 3b.

° Watch Video Solution

2.Add : 322 + 5z — 4,2z + 3 — z? and 8 — 3z + Tz

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_fzZSjiaG7L5J
https://dl.doubtnut.com/l/_Q5xmc22TSu5E

3.Add : 3ax + 5by — cz, by — 6ax — 3cz and 5cz — ax — 2by.

o Watch Video Solution

4.Add : 522 — 2zy + 82, 3zy — Ty? — 22% and y? + zy — 42>

o Watch Video Solution

5.Simplify : 6a® + 3ab + 5b° — 2ab — b? + 2a* + 4ab + 20> — a®.

o Watch Video Solution

6. Subtract: 3a + 4b — 2¢ from 6a — 2b + 3ec.

o Watch Video Solution

7.Subtract: 222 — 52 — 3from4 + = — 3x°.


https://dl.doubtnut.com/l/_Hxn6xT8A54qb
https://dl.doubtnut.com/l/_LxI6EW0pB45K
https://dl.doubtnut.com/l/_XmWd0fBSWigI
https://dl.doubtnut.com/l/_WCTcg4IJqeyT
https://dl.doubtnut.com/l/_NZdoN0gKzCSU

° Watch Video Solution

8. What must be subtracted from 22> — 3z + 1to get 2 + = — 2?

° Watch Video Solution

9. What must be added to 222 — 3zy + 53> to get z? — zy — y*?

° Watch Video Solution

10. Subtract a® 4+ 3a — a® — 6 from 2a% + a — 2a® + 3 horizontally.

° Watch Video Solution

Exercise 13 A


https://dl.doubtnut.com/l/_NZdoN0gKzCSU
https://dl.doubtnut.com/l/_YJGj5cZDjXNR
https://dl.doubtnut.com/l/_WnNx1nMU1hq8
https://dl.doubtnut.com/l/_p3PdYVS2XUcH

1. Identify monomials, binomials and trinomials from the following
algebraic expressions:

V% x a’b

° Watch Video Solution

2. Identify monomials, binomials and trinomials from the following
algebraic expressions:

5 4 3a3y322

° Watch Video Solution

3. Identify monomials, binomials and trinomials from the following
algebraic expressions:

3:1:2+p

° Watch Video Solution



https://dl.doubtnut.com/l/_Qg6aWRSibBkN
https://dl.doubtnut.com/l/_SKJ5Hnxc6EQt
https://dl.doubtnut.com/l/_ff1tdwm4b8z7
https://dl.doubtnut.com/l/_X4S4dbtqukIa

4. Identify monomials, binomials and trinomials from the following

algebraic expressions:

3a + 2b — 5¢
7

° Watch Video Solution

5. Identify monomials, binomials and trinomials from the following
algebraic expressions:

TY + yz — zx

° Watch Video Solution

6. Identify monomials, binomials and trinomials from the following
algebraic expressions:

az? + bx x y?

° Watch Video Solution



https://dl.doubtnut.com/l/_X4S4dbtqukIa
https://dl.doubtnut.com/l/_rPsAMwfNpr8p
https://dl.doubtnut.com/l/_c7t8Rpnlg0Ph

7. Write down the numerical as well as literal coefficient of each of the

following monomials:

—2p°q?

° Watch Video Solution

8. Write down the numerical as well as literal coefficient of each of the

following monomials:

5
—zyz?

9

° Watch Video Solution

9. Write down the numerical as well as literal coefficient of each of the

following monomials:

3ab?
2

° Watch Video Solution



https://dl.doubtnut.com/l/_juTCky1lhS6e
https://dl.doubtnut.com/l/_Qroq4z5x1JTc
https://dl.doubtnut.com/l/_FDiBU2fFC9Tz
https://dl.doubtnut.com/l/_Wh3HOUsmgrO1

10. Write down the numerical as well as literal coefficient of each of the

following monomials:
3

a’

° Watch Video Solution

11. Write down the numerical as well as literal coefficient of each of the

following monomials:

2ab
c

° Watch Video Solution

12. Write down the numerical as well as literal coefficient of each of the

following monomials:
212

Yyz

o Watch Video Solution



https://dl.doubtnut.com/l/_Wh3HOUsmgrO1
https://dl.doubtnut.com/l/_NW8CdHxUg9EU
https://dl.doubtnut.com/l/_hF7fbdRBPsXR

13.1n —5p?¢3r?, write down the coefficient of :

p2

o Watch Video Solution

14.1n —5p>¢*r*, write down the coefficient of :

5pq’

o Watch Video Solution

15.1n —5p?¢3r?, write down the coefficient of :

p’q

o Watch Video Solution

16.1n —5p?¢>r?, write down the coefficient of :

par



https://dl.doubtnut.com/l/_mC7vQcvkxPol
https://dl.doubtnut.com/l/_YZcih5k2NKLo
https://dl.doubtnut.com/l/_TAG3DWeuPQET
https://dl.doubtnut.com/l/_cYMiVXd3OSrS

| & Watch Video Solution

17.1n —5p%¢*r*, write down the coefficient of :

_pq2,’,,3

o Watch Video Solution

18.1n — 5p?¢3r?, write down the coefficient of :

5q3r

o Watch Video Solution

19. Identify like terms in the following:

a?, b, — 2a%, ¢, 4a

o Watch Video Solution



https://dl.doubtnut.com/l/_cYMiVXd3OSrS
https://dl.doubtnut.com/l/_kyUdiDpeb1bd
https://dl.doubtnut.com/l/_QOZpobSteg3b
https://dl.doubtnut.com/l/_zgi2BVLnnhQx

20. Identify like terms in the following:

1
3z, 4:1:y, - Yz Ezy

° Watch Video Solution

21. Identify like terms in the following:

—2xy2, xzy, 5y2$, z2z

° Watch Video Solution

22. Identify like terms in the following:

abe, ab’c, ach?, cab, b*ac, a’be, cab®

° Watch Video Solution

23. Generate algebraic expressions for the following:

The product of a and b added to their sum.

| e


https://dl.doubtnut.com/l/_PjXCSu31QMLK
https://dl.doubtnut.com/l/_sp0orkuBS2V8
https://dl.doubtnut.com/l/_o2Oth6GWSkXC
https://dl.doubtnut.com/l/_ajgW4J3AByp3

I & Watch Video Solution

24. Generate algebraic expressions for the following:

The quotient of x by 8 is multiplied by y.

° Watch Video Solution

25. Generate algebraic expressions for the following:
Thrice x added to y squared.
A >
LY° + 4
B.y> + 2z
2
Cy + 3z

D.y% — 3z

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ajgW4J3AByp3
https://dl.doubtnut.com/l/_LQKBvPh7r2J4
https://dl.doubtnut.com/l/_H7XAJLcTktOf
https://dl.doubtnut.com/l/_xbSZJRzMtD0z

26. Generate algebraic expressions for the following:

One-third of x multiplied by the sum of p and q.

1

A Zw(p+ q)
: 1
: 3fﬂ(p+ q)
1
C. gw(p —q)
!
Answer: B

o Watch Video Solution

27. Generate algebraic expressions for the following:

The number to be added to x +y to make it equal to p.

o Watch Video Solution



https://dl.doubtnut.com/l/_xbSZJRzMtD0z
https://dl.doubtnut.com/l/_Ku7VyohS2DWs

28. Generate algebraic expressions for the following:
From a rod (p+q) units in length, n equal pieces are cut. Find the length

of each piece.

° Watch Video Solution

29. Generate algebraic expressions for the following:
Five times m subtracted from the sum of p and thrice x.
A (p—3z) —bm
B.(p + 3z) + 5m
C.(p+3z) —5m

D. (pz3z) — 5m

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gjALB84RUTQ0
https://dl.doubtnut.com/l/_oC0V0zBqr6YK

30. Generate algebraic expressions for the following:
The number obtained when m times the difference of x and vy is

subtracted from n times the sum of xand y.

° Watch Video Solution

31. Generate algebraic expressions for the following:

The sum of 7 numbers each equal to p.

° Watch Video Solution

32. Generate algebraic expressions for the following:
The product of three numbers a, b and ¢ subtracted from the sum of x

andy.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZD9lwbWgpgyz
https://dl.doubtnut.com/l/_NlMDuu2uRIE0
https://dl.doubtnut.com/l/_tO20qSGw6sI6

33. Identify which of the following expressions are polynomials. If so, write
their degrees.

2 A Tz + 15
3:13—:1:

° Watch Video Solution

34. Identify which of the following expressions are polynomials. If so,
write their degrees.

8z° — 3z + 6,z + 1

° Watch Video Solution

35. Identify which of the following expressions are polynomials. If so, write
their degrees.

22
S +7
T

° Watch Video Solution



https://dl.doubtnut.com/l/_tl1AN4O1KCXH
https://dl.doubtnut.com/l/_3rGBBfJ4G7Wn
https://dl.doubtnut.com/l/_z8G9Vl5moBwL
https://dl.doubtnut.com/l/_kS3cLAIXkbLJ

36. Identify which of the following expressions are polynomials. If so, write
their degrees.

9z%y? — 3zy® + bx’y — 6z

° Watch Video Solution

37.dentify which of the following expressions are polynomials. If so, write

their degrees.

4

6p' — p’q® + pg® + ¢’

° Watch Video Solution

38. Identify which of the following expressions are polynomials. If so, write
their degrees.

4o — T2’y + 3zt + 8&°

° Watch Video Solution



https://dl.doubtnut.com/l/_kS3cLAIXkbLJ
https://dl.doubtnut.com/l/_Iw12eO5TmtNm
https://dl.doubtnut.com/l/_O2KZzVNAH8v7

39. Identify which of the following expressions are polynomials. If so, write
their degrees.

abz—%+5b2—|—6
a

o Watch Video Solution

Exercise 13 B

1. Add the following expressions:

2x2, — bx? — a:2, 62>

° Watch Video Solution

2. Add the following expressions:

z? — 2zy + 3y°, 5y® + 3zy — 622

° Watch Video Solution



https://dl.doubtnut.com/l/_a0qqyhRYUHSj
https://dl.doubtnut.com/l/_GsL2AKMxo0AW
https://dl.doubtnut.com/l/_jzaglctqX5VC
https://dl.doubtnut.com/l/_jUHnFO3RjBSf

3. Add the following expressions:

20+ 9y —72,3y+z2—3z,3z —4dy—x

° Watch Video Solution

4. Add the following expressions:

2ab + 3bc — 5ca, 4bc — 3ab + Tca, 2ca — ab — 5bc

° Watch Video Solution

5. Add the following expressions:

323 + 222 — 6z +3,20° — 322 — 2z — 4,1+ 2z — 322 — 423

° Watch Video Solution

6. Add the following expressions:

3n? + 5mn — 6m?2, 2m? — 3mn — 4n?, 2mn — 3m? — Tn?

| ° Wiak A \tAAaA CAlLiikiAan


https://dl.doubtnut.com/l/_jUHnFO3RjBSf
https://dl.doubtnut.com/l/_MdGrpjtF0ecm
https://dl.doubtnut.com/l/_GkqFPWLYKv0U
https://dl.doubtnut.com/l/_9gJs4hHGbJQA
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7. Add the following expressions:

323 — 22 45,1 —22+ 2% 3+ 22— 28

° Watch Video Solution

8. Simplify:

S5t +3y—82+2y—3x+52+2—Ty— 2«

° Watch Video Solution

9. Simplify:

472 — 222 + 52 — 1+ 8z + 22 —62°+7—6x +3 — 322 —

° Watch Video Solution



https://dl.doubtnut.com/l/_9gJs4hHGbJQA
https://dl.doubtnut.com/l/_Ijp6ykmNJhkk
https://dl.doubtnut.com/l/_QoVJN4aAJ6I8
https://dl.doubtnut.com/l/_Nb4IGFyMmczf

10. Simplify:

2¢2 + 3xy — 3y> + z° — zy + 97

o Watch Video Solution

11. Simplify:

2 — 322+ byz + Ty? — 8+ 22 — 6yz — 9y? + 1 — 222 — 2yz — ¢/*

o Watch Video Solution

12. Simplify:

2m —3n+5p+2m+n—2p—3m —4n+p

o Watch Video Solution

13. Two two adjacent sides of a rectangel are 3a — b and 6b — a. Find its

perimeter.



https://dl.doubtnut.com/l/_KoA9IANpsASD
https://dl.doubtnut.com/l/_6Obw0A7NrIfB
https://dl.doubtnut.com/l/_pteWs4UvQUju
https://dl.doubtnut.com/l/_yaII7D6ve0sA

| &J Watch Video Solution

14. Find the perimeter of a triangle whose

2y + 3z, z — y, dy — 2z.

sides

are

o Watch Video Solution

15. Subtract :

3a — 2b + 4cfrom 5a — 3b — 5¢

o Watch Video Solution

16. Subtract :

5z2 — 3zy — Ty? from 3z% — zy — 2y°

o Watch Video Solution



https://dl.doubtnut.com/l/_yaII7D6ve0sA
https://dl.doubtnut.com/l/_7S7aZjo36kjd
https://dl.doubtnut.com/l/_iPT2KPm9X9kB
https://dl.doubtnut.com/l/_QdTKcNJvgpdK

17. Subtract :

3p* — 5p*qfrom ¢* + p’q — 4p°

o Watch Video Solution

18. Subtract :

ab — be — ca from 3ab + 2bc — 4ca

o Watch Video Solution

19. Subtract :

322 — 222 + 72— 8from8 — 2z — 2

o Watch Video Solution

20. Subtract :

2abc — a® — b from b% + a® — 2abe



https://dl.doubtnut.com/l/_qhOZjHw65Q4C
https://dl.doubtnut.com/l/_ybIMrxXU6J2A
https://dl.doubtnut.com/l/_uqP6kk8PeXQe
https://dl.doubtnut.com/l/_5BJTLLVaXnft

| & Watch Video Solution I

21. Subtract 6x® — 522 + 4z — 3 from the sum z + 2z2 — 32% and

2—$2+6$—$3.

o Watch Video Solution

22. Subtract the sum of a + 2b — 3¢ and 2¢ — 3b — 4a from the sum of

50 — 4c¢ + a and 2c¢ — 3b — 4a.

o Watch Video Solution

23. Subtract the sum of 22 — 5zy + 2y? and y? — 2zy — 3z from the

sum of 622 — 8zy — y? and 2zy — 2y° — 2>

o Watch Video Solution



https://dl.doubtnut.com/l/_5BJTLLVaXnft
https://dl.doubtnut.com/l/_Q0Oj9UztbXJe
https://dl.doubtnut.com/l/_uMz6WsqHPkcE
https://dl.doubtnut.com/l/_PdYdEsDOtxQX

24.What should be subtracted from = + 2y — 3z to get 3x — 2y + 2?

o Watch Video Solution

25. What should be subtracted from 2z% — y? + 422 to get R T

?

o Watch Video Solution

26. What should be subtracted from 1 + = — 2 to get 2z + z2?

o Watch Video Solution

27. What should be added to 7a — 9b + 13cto get 9a + b — ¢?

o Watch Video Solution



https://dl.doubtnut.com/l/_jKFrCkl3jAQp
https://dl.doubtnut.com/l/_WGOMA1pLGXHp
https://dl.doubtnut.com/l/_XgDxsymZyLvy
https://dl.doubtnut.com/l/_dDyQ05l868E3

28. What should be added to 1 + 2z — 3z” to get 2 — 2 — 1?

o Watch Video Solution

29. What should be added to m? — 2mn + 5n? to get n? + mn — m??

o Watch Video Solution

30. Find the excess of 4p> — 2pq + 3¢* over 2p> — pg + 44°.

o Watch Video Solution

31. By how much does 3z — 5z + 2z — 3 exceed 23 — 3z + & + 1?

o Watch Video Solution

32.How much is —z? + Ty? — 3zy less than 222 — y2 + zy?


https://dl.doubtnut.com/l/_Cmn5kJ6o1fR2
https://dl.doubtnut.com/l/_5SpB8jXPaBk1
https://dl.doubtnut.com/l/_Xjj9ulJ5KBEv
https://dl.doubtnut.com/l/_mpmbSbr1ysmB
https://dl.doubtnut.com/l/_jGbopEUDyAan

A.3z% — 8y + day
B.4z% — 8y® + 4xy
C.3z% — 5y® + 4y

D.3z? — 8y? — 4xy

Answer: A

o Watch Video Solution

33.How much is 2° — 322 + 5z — 2less than 3 — 2z + 22 — 2%?

o Watch Video Solution

34.If x = 2a% + 3b® — 5ab, y = b* — 3a® + Tab and z = 6a® — b* + ab,
find:

rTt+y—=z

o Watch Video Solution



https://dl.doubtnut.com/l/_jGbopEUDyAan
https://dl.doubtnut.com/l/_0nAKOb9QAUnV
https://dl.doubtnut.com/l/_PkoWBO1Y9Ul1

35.1f z = 2a% + 3b® — 5ab, y = b> — 3a® + Tab and z = 6a> — b* + ab,
find:

r—yY+=z

° Watch Video Solution

36. The perimeter of a triangle is 8 + 13a + 7a® and two of its sides are

2a*> 4+ 3a + 2 and 3a® — 4a — 1. Find the third side of the triangle.

° Watch Video Solution

37.The perimeter of rectangle is 1622 — 6z2 + 12z + 4. If one of its sides

is 822 + 3z, find the other side.

° Watch Video Solution



https://dl.doubtnut.com/l/_KLbvvjhv6NAQ
https://dl.doubtnut.com/l/_nHyaZDUYUZBq
https://dl.doubtnut.com/l/_OC60vKWehfpQ
https://dl.doubtnut.com/l/_mFlALvy5Scxq

1. In the expression 3z — 62’y + 4oy — 22 + y + 62 + zy + 9, find for
terms which are not constant the numerical coefficients and coefficient of

y in terms involving Y.

o Watch Video Solution

2. For the given algebraic expression 4a’bc — 3a’bc? + 2bc, complete the

following table, filling in the required coefficients.

o Watch Video Solution



https://dl.doubtnut.com/l/_mFlALvy5Scxq
https://dl.doubtnut.com/l/_Uzv29lgZFBLP
https://dl.doubtnut.com/l/_MwHMuss9wquz

3. Identify the like terms,

zy?, — dyx?, 8z2, Ty, — 11z%, — 100z, — 1lyz, 2022y, 622, y, 2zy, 3

° Watch Video Solution

4. Classify into monomials, binomials and trinomials.

4y — 3y

° Watch Video Solution

5. Classify into monomials, binomials and trinomials.

3a — 5b

° Watch Video Solution

6. Classify into monomials, binomials and trinomials.

Z2

| ° Watch Video Solution


https://dl.doubtnut.com/l/_MwHMuss9wquz
https://dl.doubtnut.com/l/_Rr9nY2MvJKVA
https://dl.doubtnut.com/l/_1Asjloa6FyQW
https://dl.doubtnut.com/l/_o4XlVS7GCz7U

7. Classify into monomials, binomials and trinomials.

32?2 + zy — dyx

° Watch Video Solution

8. Classify into monomials, binomials and trinomials.

ab + be + ca

° Watch Video Solution

9. Classify into monomials, binomials and trinomials.

P +r?—ag

° Watch Video Solution



https://dl.doubtnut.com/l/_o4XlVS7GCz7U
https://dl.doubtnut.com/l/_8N0cZ9BWtD9D
https://dl.doubtnut.com/l/_4lOASHt7sjOz
https://dl.doubtnut.com/l/_R8LdyaTRh9DY

10. Classify into monomials, binomials and trinomials.

1+z+5

o Watch Video Solution

11. Find the degree of the polynomial

923 — 2z 4+ 172’y — y* + 14

o Watch Video Solution

12. Find the degree of the polynomial 5z — 7

o Watch Video Solution

13. Find the degree of the polynomial 21

o Watch Video Solution



https://dl.doubtnut.com/l/_a67Oz2i774JD
https://dl.doubtnut.com/l/_hlzQ3IUoJyjj
https://dl.doubtnut.com/l/_V1IPhJiuIIVq
https://dl.doubtnut.com/l/_Db5Nlzcb2ARm
https://dl.doubtnut.com/l/_AkexUDRv1HDF

14.Add 3z and 9z

o Watch Video Solution

15. Add z%yz, 2yza? and — 4zz’y

o Watch Video Solution

16. Add 3x+7 and x-4y+9

o Watch Video Solution

17.Add 22 + y* + 32y — 6 and 222 —4y®> —zy+ 5

o Watch Video Solution

18. Add 4a’b — 2b%c + 3c%a + 4abc — 5 and a®b + b® — 2¢2 + 8ab



https://dl.doubtnut.com/l/_AkexUDRv1HDF
https://dl.doubtnut.com/l/_TvdOWVBoWFsV
https://dl.doubtnut.com/l/_ZVDJPmGq3HzR
https://dl.doubtnut.com/l/_Iu5LzTDkcJht
https://dl.doubtnut.com/l/_tOS8MLXHyPOy

l ° Watch Video Solution

19. Subtract 3a®> — 5a + 6b — 8 from 2a% + 4a + Tab + 1

° Watch Video Solution

20. What should be subtracted from 2p2 + 3q2 + 6pq to get p2 — q2 ?

° Watch Video Solution

21. Subtract the sum of (332 + 2y + 7m2y) and (ac2 — 3my2) from the

sum of (x2 —y? - acy) and (39182 — u? — 7)

° Watch Video Solution

22. Write the number of terms and also list out the terms in each of the

following algebraic expressions.


https://dl.doubtnut.com/l/_tOS8MLXHyPOy
https://dl.doubtnut.com/l/_H3nEQgzBtMUZ
https://dl.doubtnut.com/l/_0WFsrbsdWBwq
https://dl.doubtnut.com/l/_mnjy4nqRVqNk
https://dl.doubtnut.com/l/_NKyd3e6B4p4t

(2zy)y + (4y) + 2° — = (2¢%)

° Watch Video Solution

23. Write the number of terms and also list out the terms in each of the

following algebraic expressions.

(ab)(bc)(ca) — (ab)a + (be)b — (a®)b — (b%)d

° Watch Video Solution

24, Write the number of terms and also list out the terms in each of the

following algebraic expressions.

(2a)( — a) + (3b)b — (5c)c + (2a)a — (2b)( — b)

° Watch Video Solution

25. Simplify the following

5y — [2y — 5(2 — y)]



https://dl.doubtnut.com/l/_NKyd3e6B4p4t
https://dl.doubtnut.com/l/_PljP3PrkunSL
https://dl.doubtnut.com/l/_nWzsTxo3dyQU
https://dl.doubtnut.com/l/_CKIvweojkK0i

| ° Watch Video Solution

26. Simplify the following

4z — (3z + 3) — [2z — 4]z + 3(z — 5)}]

° Watch Video Solution

27.Find the value of 322 — 5z + 8 for x=3

° Watch Video Solution

28.Find the value of 2a% + b% + 5 when a=2 and b=-1

° Watch Video Solution

29. From an algebraic expression to give the number of line segments

required to make the following pattern and hence find the number of line


https://dl.doubtnut.com/l/_CKIvweojkK0i
https://dl.doubtnut.com/l/_iEjZZhsbYljP
https://dl.doubtnut.com/l/_xG3FFsCkqWJz
https://dl.doubtnut.com/l/_0qRAAMSXsa0C
https://dl.doubtnut.com/l/_NLhavwWDTnXZ

segments required to make the 10th pattern.

° Watch Video Solution

1. From the given algbraic expression

(2ab)(3ac) — (6¢*)(ca) + (2ab)( — ac) complete the following table

filling in the required coefficients . Write NA for the reaction that do not

apply.

o Watch Video Solution

2. Identify which of the following pairs contain like terms or unlike terms.

3zy, — 8yx



https://dl.doubtnut.com/l/_NLhavwWDTnXZ
https://dl.doubtnut.com/l/_IKBXVTbi5RJ1
https://dl.doubtnut.com/l/_8gMSboPtjZEn

° Watch Video Solution

3. Identify which of the following pairs contain like terms or unlike terms.

— zc2y, E'xvy2

° Watch Video Solution

4. Identify which of the following pairs contain like terms or unlike terms.

5ab, bac

° Watch Video Solution

5. Identify which of the following pairs contain like terms or unlike terms.

r,Y

° Watch Video Solution



https://dl.doubtnut.com/l/_8gMSboPtjZEn
https://dl.doubtnut.com/l/_G3Q2IZ0mClgU
https://dl.doubtnut.com/l/_IOvXDex6iiNs
https://dl.doubtnut.com/l/_0DxPcflbiChV

6. Identify which of the following pairs contain like terms or unlike terms.

4ab’c, — cab?

° Watch Video Solution

7.1dentify which of the following pairs contain like terms or unlike terms.

3a2b’c?, 3ab?c?

° Watch Video Solution

8. Identify which of the following pairs contain like terms or unlike terms.

Tab, — 11ba

° Watch Video Solution

9. Identify which of the following pairs contain like terms or unlike terms.

11:13y2, — 11yac2

| e


https://dl.doubtnut.com/l/_EjMI7PQMOf7G
https://dl.doubtnut.com/l/_bh08Qe2zKHOo
https://dl.doubtnut.com/l/_wmmhlm7eoYPs
https://dl.doubtnut.com/l/_8EAhxBTSAOFE

| & Watch Video Solution I

10. Identify which of the following pairs contain like terms or unlike terms.

2zy, 2z 2

o Watch Video Solution

1. Identify which of the following pairs contain like terms or unlike terms.

a3, b3

o Watch Video Solution

12. Identify which of the following pairs contain like terms or unlike terms.

6m2yz, — 3zyav2

o Watch Video Solution



https://dl.doubtnut.com/l/_8EAhxBTSAOFE
https://dl.doubtnut.com/l/_a13nDV1Fu3NJ
https://dl.doubtnut.com/l/_X20eb3E5Uuiy
https://dl.doubtnut.com/l/_kYPM0XfYeEPU

13. Identify which of the following pairs contain like terms or unlike terms.

5my2z2, 5m2y2z

o Watch Video Solution

14.Find the degree of the following polynomials

3a’be

o Watch Video Solution

15. Find the degree of the following polynomials

23

o Watch Video Solution

16. Find the degree of the following polynomials

443



https://dl.doubtnut.com/l/_kEi0OFGDBOdV
https://dl.doubtnut.com/l/_OFmrpLzXiVRD
https://dl.doubtnut.com/l/_nw1DSokXuz3C
https://dl.doubtnut.com/l/_0GFJUuEciQ9B

| & Watch Video Solution

17. Find the degree of the following polynomials

Szyzt + 222y? + 4y322

o Watch Video Solution

18. Find the degree of the given polynomial

3abcizy — 9ab’zy® + a’b®

o Watch Video Solution

19. Find the degree of the following polynomials

2 3 1
gxyzg’ n gmzyzzz n Emsy_ iz

o Watch Video Solution



https://dl.doubtnut.com/l/_0GFJUuEciQ9B
https://dl.doubtnut.com/l/_crJrm6gHIiFl
https://dl.doubtnut.com/l/_NYgJURfWxK0B
https://dl.doubtnut.com/l/_rIU7X3mXFmgM

20. Find the degree of the following polynomials

a’b’c® + a® + 4a°b

o Watch Video Solution

21. Find the degree of the following polynomials

5p* — T¢°pr — 6p°q

o Watch Video Solution

1. Add the algebraic expressions.

3ab + 6bc — 4ca and 2ab — 2bc + 3ca

° Watch Video Solution



https://dl.doubtnut.com/l/_4ZvCbovQFFel
https://dl.doubtnut.com/l/_IDEk38wjXhNH
https://dl.doubtnut.com/l/_2lxOj9DhbDM6

2. Add the algebraic expressions.

5ab> — bbe + 8ca and 3ab® + 6bc — 4ca

o Watch Video Solution

3. Add the following

5a + 2a% — 3a® + 8, —4a® +5a®> — 9, — 2a + 6a® — 3a®, —a + 4a® — 9,

o Watch Video Solution

4. Add the following

—2a+5a>—a*+2 —5a>—2a®+4,a—a®+3a%, —2a —3a%>—4,6—

o Watch Video Solution

5. Subtract:

222 — 5zy + 3y* + 5 from 4z + 3zy — 5y + 9



https://dl.doubtnut.com/l/_x2gQU1CO20Gs
https://dl.doubtnut.com/l/_gHfmemgzFiG7
https://dl.doubtnut.com/l/_ZBZHRTWfLkhD
https://dl.doubtnut.com/l/_IhrCOCp3WPcj

| & Watch Video Solution I

6. Subtract:

5a% + Tab — 2b> + 4 from 7a® — ab + 2b

o Watch Video Solution

7. How much does 3z% — 14zy + 8y? exceed z? + 3zy + 4y* — 2zy?

o Watch Video Solution

8. What should be subtracted from 4a® + 2a?b — 4ab® to get 2a® + 3a%b

o Watch Video Solution

9. What should be added to —3a?b’c® + 2abc® +18 to get

7a’b’c® + 1labc® — 7

s |


https://dl.doubtnut.com/l/_IhrCOCp3WPcj
https://dl.doubtnut.com/l/_we3t9V32XtVb
https://dl.doubtnut.com/l/_NRGNmnHLpxrT
https://dl.doubtnut.com/l/_nE1FIAdY9YMD
https://dl.doubtnut.com/l/_ZNnPfkhXSSrN

| ¥ Vvatch Video Solution J

10. From the sum of 4zy + 3yz — 3zyz + 1 and zy — 2yz + xyz + 4

subtract 3zy + 2yz + baxyz — 4

o Watch Video Solution

1. Subtract 222 — 3y from the sum of

z? — 3y? + 1lzy and y? — 42% + 9zy

o Watch Video Solution

12. From the sum of 3z + 2z? — y? and 6y — 5y + 322 + 4z, subtract

the sum of 2% — 2% + 3z — 5y and 3z + 2y? — 4z — y

o Watch Video Solution



https://dl.doubtnut.com/l/_ZNnPfkhXSSrN
https://dl.doubtnut.com/l/_C6w3uI5nlZG3
https://dl.doubtnut.com/l/_rWVKwb8c8saH
https://dl.doubtnut.com/l/_L776hkDXoLae

13. Write the given statement as an algebraic statement and then simplify
Five times the sum of 3z — [2y — 2(1 — 4«)] and 3y — 4(3 — 5z) is

added to bz +2(3 —y) "’

° Watch Video Solution

14. Simplify the following

dz — [3z — (1 — 5z) — 6]8 — 3(2z + 7)]]

° Watch Video Solution

15. Simplify the following

9z — [8 — (3 — 7z) — 3[5z — 3(4 — 22)}]

° Watch Video Solution



https://dl.doubtnut.com/l/_1LktZJoyJoDQ
https://dl.doubtnut.com/l/_kUxnb7crfCGN
https://dl.doubtnut.com/l/_98sMrDAxCJrm

16. Find the value of :

z3 +y3 + 3zyzgiventhatz = — 1,y =2 and z = 3

o Watch Video Solution

17. Find the value of :

3abc — 2a® + 4b® + acgiventhata = —2,b=3andc= —1

o Watch Video Solution

18. Find the value of :

50> — 3a + 4fora = 3

o Watch Video Solution

19. Find the value of :

6a’b — 5ab® + 10ab — 7 given thata = 1 and b = 2



https://dl.doubtnut.com/l/_rbYhYs5WlaFR
https://dl.doubtnut.com/l/_REYNOe8dzNqp
https://dl.doubtnut.com/l/_B8cBNtZrkKfT
https://dl.doubtnut.com/l/_PLgJmB9RGkrT

l & Watch Video Solution J

20. Simplify and find the value of the simplified expression when x=-1 and
y=2.

3(2:132 — 4y2) — [7my — [3(:33 — 2y2) — 2xy)]

° Watch Video Solution

21. Simplify and find the value of the simplified expression when x=-1 and
y=2.

4(:132 + 3y2) — (me — [5(2383 — 3y2) + a:y)]

° Watch Video Solution

Revision Exercise

1. Identify the numerical coefficients of terms other than the constant

terms and also the coefficient of x in terms containing x.


https://dl.doubtnut.com/l/_PLgJmB9RGkrT
https://dl.doubtnut.com/l/_VFbnDSRhAofP
https://dl.doubtnut.com/l/_4RZYagzwo9fP
https://dl.doubtnut.com/l/_PhVccU3ukz66

dzy? + v’z + 1lzyz — 192 + 8zy + 2

° Watch Video Solution

2. State whether the given pairs of terms are like or unlike.

dzy?, 789y

° Watch Video Solution

3. State whether the given pairs of terms are like or unlike.

1,10

° Watch Video Solution

4. State whether the given pairs of terms are like or unlike.

—2bxy, — 25yz

° Watch Video Solution



https://dl.doubtnut.com/l/_PhVccU3ukz66
https://dl.doubtnut.com/l/_gL9ljRSWDVqM
https://dl.doubtnut.com/l/_7NtEZBtAbpp1
https://dl.doubtnut.com/l/_68qyMgWi7kj7
https://dl.doubtnut.com/l/_g1XH4Lfme7nl

5. State whether the given pairs of terms are like or unlike.

xyz, 8765zxy

° Watch Video Solution

6. State whether the given pairs of terms are like or unlike.

55ab%, 55ba’

° Watch Video Solution

7. Classify an monomial, bionomial and trinomial

5

° Watch Video Solution

8. Classify an monomial, bionomial and trinomial

65 — a



https://dl.doubtnut.com/l/_g1XH4Lfme7nl
https://dl.doubtnut.com/l/_PaOXliEclpSJ
https://dl.doubtnut.com/l/_tvXPWIj0h4oi
https://dl.doubtnut.com/l/_8xymFhiegpo0

I & Watch Video Solution

9. Classify an monomial, bionomial and trinomial

a’>+b—3b

° Watch Video Solution

10. Classify an monomial, bionomial and trinomial

p+q+r—>5p

° Watch Video Solution

11. Classify an monomial, bionomial and trinomial

6r — 2r

° Watch Video Solution



https://dl.doubtnut.com/l/_8xymFhiegpo0
https://dl.doubtnut.com/l/_nhAWqVm1KmHv
https://dl.doubtnut.com/l/_096ZW2Y6ygWd
https://dl.doubtnut.com/l/_Cq6J9oAdPC2u

12. Find the degrees of the following polynomials

Tp’qr + 2pg® + 3qr® + 4rp?

° Watch Video Solution

13. Find the degrees of the following polynomials

3r —4y — 82+ 9

° Watch Video Solution

14.Find the degrees of the following polynomials

44

° Watch Video Solution

15. Find the degrees of the following polynomials

15a26> — a® + b* — a*b + 18



https://dl.doubtnut.com/l/_I2SHlaFgLMxI
https://dl.doubtnut.com/l/_7GEG88ptkzJX
https://dl.doubtnut.com/l/_Mup9dQyCvWI5
https://dl.doubtnut.com/l/_lXf7MYRAZkAb

| &J Watch Video Solution

16. Find the value of the expression:

a’ — ab — 2a + 5b when a=2 and b=-3

o Watch Video Solution

17. Find the sum

2¢2 + y? + zy, y® — 322 + yz, and 22 + 2? + 2z + zyz — 8

of

o Watch Video Solution

18. Add the following

3a + 6a’b + 4b, 2b — 9ab® — 6a, — 6a — Tb + 2a%b

o Watch Video Solution



https://dl.doubtnut.com/l/_lXf7MYRAZkAb
https://dl.doubtnut.com/l/_Tri21bR8zp1P
https://dl.doubtnut.com/l/_WooPGAfW4iMC
https://dl.doubtnut.com/l/_S9EPYVJGhhjQ

19. Add the following

2z — 3y + 2x2y,m — 2y — 2:L'y2,ac —y+ 3:1:2y

° Watch Video Solution

20. What should be subtracted from a? + b* + ¢ — ab — bc — 9 to get

ab + be + ca + abe + 9

° Watch Video Solution

21. Subtract the sum of z? + 2z + 2 and zy® + 3 from the sum of

222 + 52 — 1 and y* + 2%y — 3

° Watch Video Solution

22. What must be added to 9a® + 8a®> —T7a +15 to obtain

7a® — 9a® + 11a — 6



https://dl.doubtnut.com/l/_8hFBJ5aTowac
https://dl.doubtnut.com/l/_qfSDAxr06T7s
https://dl.doubtnut.com/l/_rlTEbqSjeHVY
https://dl.doubtnut.com/l/_i3eBrT9vXpBs

| &J Watch Video Solution I

23. What must be added to 3a® —9a>+a-+8 to obtain

4a® — 3a% + Ta — 2?

o Watch Video Solution

24.Find the value of 2® — 3(z — 10) for z = 10

o Watch Video Solution

25. Find the value of a if the value of 2z? + 3z — a is equal to 6 when

X=-2.

o Watch Video Solution



https://dl.doubtnut.com/l/_i3eBrT9vXpBs
https://dl.doubtnut.com/l/_U5CPUuNAKPQH
https://dl.doubtnut.com/l/_eBRwZyQE94V0
https://dl.doubtnut.com/l/_NmJmKff2tltn

26. From the sum of 4abc + 3ab — be + 4 and 3abc — ab + 2bc — 2

subtract 2abec + ab — 3bc + 8

o Watch Video Solution

27. Complete the following table:

=xy(x®) + (y2)y) - 20yz)z) + Sxz
1267 + (2xy)(-2yz)(22x) - 4(xy)yZ))

3a(-a) + (2b)b - 3c(-2c)

o Watch Video Solution

28. Subtract z? — 3y? — bzy from the

3z% — y? + 8zy and 5y — 32% + 3zy

sum

of

o Watch Video Solution



https://dl.doubtnut.com/l/_1KRy5XzBfS68
https://dl.doubtnut.com/l/_MBddshNRXZUx
https://dl.doubtnut.com/l/_8PSzOdfIQutj

29. From the sum of 5z — 3z? + y? and 8z — 3y? — z? + z subtract the

sumof 222 + y? + 4z — 2y and z? + y® — 3z — 2y

o Watch Video Solution

30. Fill in the blanks:

2¢%y + 3z(4y) — 2y(12z) + 8 = 2%y — +8

o Watch Video Solution

31. Fill in the blanks:

dabc + 2a%bc — 3b*c — +5=abc— & + 5 —

o Watch Video Solution

32. Fill in the blanks:

3zy? + 4oy — 22’y + 9 = 3z’ + 9 —



https://dl.doubtnut.com/l/_hH6h6ctwQEMF
https://dl.doubtnut.com/l/_ncy9s4ztcos3
https://dl.doubtnut.com/l/_pthIsmqKv3xv
https://dl.doubtnut.com/l/_QBp2vYe0exAR

I & Watch Video Solution

33. Fill in the blanks:

2abc?® + 3ab’c — 4ab + 3be — 2ca — 2 = 2abc® + 3be — 2ca — 2 —

° Watch Video Solution

34. Write the given statement as an algebraic statement and then
simplify
Five times the sum of 8y — [3z — 4(2 — 3y)| and 2z — 2(5 + 2y) is

added to 2z — (8 — y) "’

° Watch Video Solution

35. Simplify and find the value of the simplified expression when x=-1 and
y=2.

3(2332 — 4y2) — [7my — [3(:33 — 2y2) — 2azy)}


https://dl.doubtnut.com/l/_QBp2vYe0exAR
https://dl.doubtnut.com/l/_oBy7avex3rTE
https://dl.doubtnut.com/l/_pD8yyhly338g
https://dl.doubtnut.com/l/_vHl88YJi7HDr

° Watch Video Solution

36. Write the general algebraic expression for the pattern as given. Also

find the number of line segment required for 12th of the given pattern.

s 2nd

- N »
\, "
S ath

° Watch Video Solution

37. How much does 5z% — 8zy — 6y exceed 322 — 4xy + 2% — xy??

° Watch Video Solution

38. Form the algebraic expression to give the number of line segments

required to make the given pattern. Also, find the number of line


https://dl.doubtnut.com/l/_vHl88YJi7HDr
https://dl.doubtnut.com/l/_M68bNfC1uU27
https://dl.doubtnut.com/l/_JHvbpYzv3Y2F
https://dl.doubtnut.com/l/_AWrdAkht1AyO

segments required to make 14th pattern of the series.

° Watch Video Solution

1. For the given algebraic expression 6a’b’c + 5a®bc? — 4abc complete

the given table filling in the required coefficients.

a. 6alblc |
b. Sa’be? |
\_C. -dabe

T | ottt | utnts | Gt | ot
f

° Watch Video Solution



https://dl.doubtnut.com/l/_AWrdAkht1AyO
https://dl.doubtnut.com/l/_wNGcegY84Awq

2. For the algebraic expression 2y2 — my2 + Txy — z — y + 22 find the
numerical coefficient of all terms which are not a constant. Also, find the
coefficient of y? and the coefficient of x for terms involving y? and z

respectively.

° Watch Video Solution

3. Identify the like terms,

10pq, 7Tp, — p*¢*, — Tpg, — 100q, — 23, — 12¢°p*, — 5p°, 4l, 2405p, 78qp, ]

° Watch Video Solution

4. Classify into monomials, binomials and trinomials.

4r — 5

° Watch Video Solution



https://dl.doubtnut.com/l/_lGkroiDrGJBz
https://dl.doubtnut.com/l/_12b6DXdzWeGO
https://dl.doubtnut.com/l/_WnAuA3yfsbpQ

5. Classify into monomials, binomials and trinomials.

3q — 2p

o Watch Video Solution

6. Classify into monomials, binomials and trinomials.

abc — ab — be

o Watch Video Solution

7. Classify into monomials, binomials and trinomials.

2 —|—y2 — 322

o Watch Video Solution

8. Classify into monomials, binomials and trinomials.

at+x+3+2



https://dl.doubtnut.com/l/_TkCafQYWirFf
https://dl.doubtnut.com/l/_etUrUOaCs7DI
https://dl.doubtnut.com/l/_XMMo0v3HV3nU
https://dl.doubtnut.com/l/_sYf4AUygo7OZ

| &J Watch Video Solution

9. Give one example in each of the following

constant

o Watch Video Solution

10. Give one example in each of the following

Linear polynomial

o Watch Video Solution

11. Give one example in each of the following

Quadratic polynomial

o Watch Video Solution



https://dl.doubtnut.com/l/_sYf4AUygo7OZ
https://dl.doubtnut.com/l/_dS8eqbzEtEx8
https://dl.doubtnut.com/l/_mhc6Ax6qZZmE
https://dl.doubtnut.com/l/_v992Sy6Pafvm

12. Give one example in each of the following

Cubic polynomial

° Watch Video Solution

13. Give one example in each of the following

Biquadratic polynomial

° Watch Video Solution

14. Find the degrees of the following polynomials

5b° + 2ab® — dab + 3

° Watch Video Solution

15. Find the degrees of the following polynomials

3abc + 7



https://dl.doubtnut.com/l/_Uggv93vvv1xp
https://dl.doubtnut.com/l/_ZnF7h1RSBlIl
https://dl.doubtnut.com/l/_THp9lZiaDDrU
https://dl.doubtnut.com/l/_cA7e8fnEk3Eh

| & Watch Video Solution

16. Find the degrees of the following polynomials

—z2d + 7 — 5yt 4+ 32° + 1

o Watch Video Solution

17. Simplify : 7Tz — [2 — 3(1 — 3z)]

o Watch Video Solution

18. Add

a’b + 2ab — 7 and 2a%b — ab + 2

o Watch Video Solution



https://dl.doubtnut.com/l/_cA7e8fnEk3Eh
https://dl.doubtnut.com/l/_WlDKaGKwGsuc
https://dl.doubtnut.com/l/_aL6keTARsCOT
https://dl.doubtnut.com/l/_Qf3oIv5DvAm8

19. Add

2pq'r2 — pzq + pg and 3p2q —ab+ 2

o Watch Video Solution

20. Subtract : 22 + 2zy® — 6 from 422 + zy® — 8

o Watch Video Solution

21. What should be added to 2xy+ 3yz+ 4zz + S5ryz to get

x4+ y—+ z+ 2zxy + 3yz + zx — xyz?

o Watch Video Solution

22. What should be subtracted from 2a% —b>+3ab to get

a? + b + 3ab® — 6

o Watch Video Solution



https://dl.doubtnut.com/l/_9vdwqw1HXR1V
https://dl.doubtnut.com/l/_kUb7GoPD98Ov
https://dl.doubtnut.com/l/_8e0Pna5XYKw1
https://dl.doubtnut.com/l/_LmUj6MLLcMrX

23. Subtract the sum of (w2 — 2% + xy) and (y2 + 22 + xyz) from the

sum of (z2 — 2zx — :cyz) and (a:2 + acy)

° Watch Video Solution

24, Find the value 01‘3(932 — 2) + 4z — 8 when x=-2

° Watch Video Solution

25. Find the value of 2p2q - 3pq2 + 2p — 3p + 1 when p=3,g=-3

° Watch Video Solution

26. From an algebraic expression to give the number of line segments

required to make the following pattern and hence find the number of line


https://dl.doubtnut.com/l/_LmUj6MLLcMrX
https://dl.doubtnut.com/l/_laEIGVkV4Tsx
https://dl.doubtnut.com/l/_Bvb3utTboBmZ
https://dl.doubtnut.com/l/_tAw3ZZwNAkzA
https://dl.doubtnut.com/l/_k654z580JIz6

segments required for 10 houses.

0

|-house pattern  7-house pattern

o Watch Video Solution



https://dl.doubtnut.com/l/_k654z580JIz6

